

21 Main St, Warrenton, Virginia, 20186 2 21 Main St, Warrenton, Virginia, 20186

Ring: 5 mile radius

Prepared by Esri Latitude: 38.71383 Longitude: -77.79488

		2025	Labor Force			
				Unemployment	Labor Force	Employment-
Age Group	Population	Employed	Unemployed	Rate	Participation Rate	Population Ratio
16+	22,167	14,154	449	3.1%	65.9%	63.9%
16-24	2,776	1,356	130	8.7%	53.5%	48.8%
25-54	9,888	8,588	227	2.6%	89.1%	86.9%
55-64	3,969	2,974	88	2.9%	77.1%	74.9%
65+	5,535	1,236	4	0.3%	22.4%	22.3%
Male Age 16+	10,845	7,569	173	2.2%	71.4%	69.8%
Female Age 16+	11,322	6,585	276	4.0%	60.6%	58.2%
White Age 16+	17,347	11,144	363	3.2%	66.3%	64.2%
Black Age 16+	1,703	1,122	56	4.8%	69.2%	65.9%
American Indian Age 16+	83	49	2	3.9%	61.4%	59.0%
Asian Age 16+	607	387	3	0.8%	64.3%	63.8%
Pacific Islander Age 16+	28	18	0	0.0%	64.3%	64.3%
Other Race Age 16+	727	450	1	0.2%	62.0%	61.9%
Multiple Races Age 16+	1,673	985	24	2.4%	60.3%	58.9%
Economic Dependency Pat	ia					

Economic Dependency Ra	tio
-------------------------------	-----

 Total
 91.9

 Child (<16)</td>
 36.1

 Working-Age (16-64)
 25.7

 Senior (65+)
 30.1

Industry	Employed	Percent	US Percent	Location Quotient
Total	14,154	100.0%	100.0%	-
Agriculture/Forestry/Fishing	46	0.3%	1.1%	0.30
Mining/Quarrying/Oil & Gas	0	0.0%	0.3%	0.00
Construction	1,191	8.4%	7.0%	1.21
Manufacturing	547	3.9%	9.6%	0.40
Wholesale Trade	163	1.2%	1.9%	0.59
Retail Trade	1,212	8.6%	10.4%	0.82
Transportation/Warehousing	713	5.0%	5.0%	1.01
Utilities	171	1.2%	0.9%	1.34
Information	252	1.8%	1.8%	0.98
Finance/Insurance	554	3.9%	4.9%	0.81
Real Estate/Rental/Leasing	260	1.8%	1.7%	1.10
Professional/Scientific/Tech	2,148	15.2%	8.4%	1.81
Management of Companies	51	0.4%	0.2%	2.32
Admin/Support/Waste Management	551	3.9%	4.5%	0.86
Educational Services	1,301	9.2%	9.4%	0.98
Health Care/Social Assistance	1,870	13.2%	14.5%	0.91
Arts/Entertainment/Recreation	234	1.7%	2.2%	0.75
Accommodation/Food Services	779	5.5%	6.6%	0.83
Other Services (Excluding Public)	820	5.8%	4.7%	1.23
Public Administration	1,292	9.1%	5.0%	1.81

Data Note: Location Quotients compare the industry/occupation share of a local area's employment relative to that same share nationally. A value lower/greater than 1 indicates that the local area is less/more specialized in that industry or occupation category than the US as a whole.

Explore the Esri Labor Force Learn Lesson for more information on how to use and interpret the estimates in this report.

Source: Esri forecasts for 2025 and 2030.

©2025 Esri Page 1 of 6



21 Main St, Warrenton, Virginia, 20186 2 21 Main St, Warrenton, Virginia, 20186

Ring: 5 mile radius Longitude: -77.79488

Prepared by Esri

July 25, 2025

Latitude: 38.71383

Occupation	Employed	Percent	US Percent	Location Quotient
Total	14,154	100.0%	100.0%	
White Collar	9,937	70.2%	62.5%	1.12
Management	2,639	18.6%	11.8%	1.58
Business/Financial	1,138	8.0%	6.4%	1.25
Computer/Mathematical	961	6.8%	4.0%	1.70
Architecture/Engineering	431	3.0%	2.3%	1.30
Life/Physical/Social Sciences	95	0.7%	1.3%	0.52
Community/Social Service	183	1.3%	1.8%	0.73
Legal	156	1.1%	1.2%	0.94
Education/Training/Library	817	5.8%	6.3%	0.9
Arts/Design/Entertainment	331	2.3%	2.1%	1.0
Healthcare Practitioner	967	6.8%	6.7%	1.0
Sales and Sales Related	972	6.9%	8.4%	0.8
Office/Administrative Support	1,247	8.8%	10.1%	0.8
Blue Collar	2,180	15.4%	21.0%	0.7
Farming/Fishing/Forestry	26	0.2%	0.5%	0.3
Construction/Extraction	910	6.4%	4.9%	1.3
Installation/Maintenance/Repair	332	2.3%	2.9%	0.8
Production	147	1.0%	5.0%	0.2
Transportation/Material Moving	765	5.4%	7.7%	0.7
Services	2,036	14.4%	16.5%	0.8
Healthcare Support	529	3.7%	3.5%	1.0
Protective Service	337	2.4%	2.1%	1.1
Food Preparation/Serving	585	4.1%	5.1%	0.8
Building Maintenance	377	2.7%	3.4%	0.7
Personal Care/Service	208	1.5%	2.4%	0.6

Data Note: Location Quotients compare the industry/occupation share of a local area's employment relative to that same share nationally. A value lower/greater than 1 indicates that the local area is less/more specialized in that industry or occupation category than the US as a whole.

Explore the Esri Labor Force Learn Lesson for more information on how to use and interpret the estimates in this report.

Source: Esri forecasts for 2025 and 2030.



21 Main St, Warrenton, Virginia, 20186 2 21 Main St, Warrenton, Virginia, 20186

Ring: 10 mile radius

Prepared by Esri Latitude: 38.71383 Longitude: -77.79488

		2025	Labor Force			
				Unemployment	Labor Force	Employment-
Age Group	Population	Employed	Unemployed	Rate	Participation Rate	Population Ratio
16+	55,349	36,686	1,033	2.7%	68.1%	66.3%
16-24	7,005	4,000	318	7.4%	61.6%	57.1%
25-54	25,416	22,139	486	2.1%	89.0%	87.1%
55-64	9,991	7,568	178	2.3%	77.5%	75.7%
65+	12,937	2,979	51	1.7%	23.4%	23.0%
Male Age 16+	27,330	19,888	496	2.4%	74.6%	72.8%
Female Age 16+	28,020	16,798	538	3.1%	61.9%	60.0%
White Age 16+	42,181	27,988	748	2.6%	68.1%	66.4%
Black Age 16+	4,098	2,818	123	4.2%	71.8%	68.8%
American Indian Age 16+	241	150	4	2.6%	63.9%	62.2%
Asian Age 16+	2,377	1,562	35	2.2%	67.2%	65.7%
Pacific Islander Age 16+	57	38	0	0.0%	66.7%	66.7%
Other Race Age 16+	2,030	1,302	32	2.4%	65.7%	64.1%
Multiple Races Age 16+	4,365	2,827	91	3.1%	66.9%	64.8%
Economic Dependency Rat	io					
Tatal						07.0

Total	87.8
Child (<16)	37.3
Working-Age (16-64)	23.5
Senior (65+)	27.1

ndustry	Employed	Percent	US Percent	Location Quotient
-otal	36,686	100.0%	100.0%	-
Agriculture/Forestry/Fishing	242	0.7%	1.1%	0.61
Mining/Quarrying/Oil & Gas	17	0.0%	0.3%	0.14
Construction	3,255	8.9%	7.0%	1.27
Manufacturing	1,578	4.3%	9.6%	0.45
Wholesale Trade	546	1.5%	1.9%	0.76
Retail Trade	3,239	8.8%	10.4%	0.8
Transportation/Warehousing	1,661	4.5%	5.0%	0.9
Utilities	403	1.1%	0.9%	1.2
Information	692	1.9%	1.8%	1.0
Finance/Insurance	1,330	3.6%	4.9%	0.7
Real Estate/Rental/Leasing	721	2.0%	1.7%	1.1
Professional/Scientific/Tech	5,451	14.9%	8.4%	1.7
Management of Companies	95	0.3%	0.2%	1.6
Admin/Support/Waste Management	1,442	3.9%	4.5%	0.8
Educational Services	3,429	9.3%	9.4%	1.0
Health Care/Social Assistance	4,106	11.2%	14.5%	0.7
Arts/Entertainment/Recreation	617	1.7%	2.2%	0.7
Accommodation/Food Services	1,926	5.2%	6.6%	0.7
Other Services (Excluding Public)	2,238	6.1%	4.7%	1.3
Public Administration	3,699	10.1%	5.0%	2.00

Data Note: Location Quotients compare the industry/occupation share of a local area's employment relative to that same share nationally. A value lower/greater than 1 indicates that the local area is less/more specialized in that industry or occupation category than the US as a whole.

Explore the Esri Labor Force Learn Lesson for more information on how to use and interpret the estimates in this report.

Source: Esri forecasts for 2025 and 2030.

©2025 Esri Page 3 of 6



21 Main St, Warrenton, Virginia, 20186 2 21 Main St, Warrenton, Virginia, 20186

Ring: 10 mile radius Longitude: -77.79488

Occupation	Employed	Percent	US Percent	Location Quotient
Total	36,686	100.0%	100.0%	-
White Collar	25,445	69.4%	62.5%	1.11
Management	5,977	16.3%	11.8%	1.38
Business/Financial	3,206	8.7%	6.4%	1.36
Computer/Mathematical	2,495	6.8%	4.0%	1.70
Architecture/Engineering	1,002	2.7%	2.3%	1.17
Life/Physical/Social Sciences	272	0.7%	1.3%	0.58
Community/Social Service	503	1.4%	1.8%	0.76
Legal	395	1.1%	1.2%	0.92
Education/Training/Library	2,328	6.3%	6.3%	1.00
Arts/Design/Entertainment	580	1.6%	2.1%	0.74
Healthcare Practitioner	2,434	6.6%	6.7%	0.99
Sales and Sales Related	2,593	7.1%	8.4%	0.84
Office/Administrative Support	3,660	10.0%	10.1%	0.99
Blue Collar	5,681	15.5%	21.0%	0.7
Farming/Fishing/Forestry	159	0.4%	0.5%	0.9
Construction/Extraction	1,876	5.1%	4.9%	1.04
Installation/Maintenance/Repair	1,000	2.7%	2.9%	0.93
Production	600	1.6%	5.0%	0.33
Transportation/Material Moving	2,046	5.6%	7.7%	0.73
Services	5,560	15.2%	16.5%	0.92
Healthcare Support	951	2.6%	3.5%	0.73
Protective Service	1,268	3.5%	2.1%	1.6
Food Preparation/Serving	1,482	4.0%	5.1%	0.79
Building Maintenance	1,012	2.8%	3.4%	0.8
Personal Care/Service	847	2.3%	2.4%	0.9

Data Note: Location Quotients compare the industry/occupation share of a local area's employment relative to that same share nationally. A value lower/greater than 1 indicates that the local area is less/more specialized in that industry or occupation category than the US as a whole.

Explore the Esri Labor Force Learn Lesson for more information on how to use and interpret the estimates in this report.

Source: Esri forecasts for 2025 and 2030.

©2025 Esri Page 4 of 6

Prepared by Esri

Latitude: 38.71383



21 Main St, Warrenton, Virginia, 20186 2 21 Main St, Warrenton, Virginia, 20186

Ring: 15 mile radius

Prepared by Esri Latitude: 38.71383 Longitude: -77.79488

		2025	Labor Force			
				Unemployment	Labor Force	Employment-
Age Group	Population	Employed	Unemployed	Rate	Participation Rate	Population Ratio
16+	153,450	106,296	2,803	2.6%	71.1%	69.3%
16-24	21,440	12,615	918	6.8%	63.1%	58.8%
25-54	74,647	66,243	1,139	1.7%	90.3%	88.7%
55-64	25,917	20,163	489	2.4%	79.7%	77.8%
65+	31,445	7,275	257	3.4%	24.0%	23.1%
Male Age 16+	75,689	57,669	1,546	2.6%	78.2%	76.2%
Female Age 16+	77,762	48,626	1,257	2.5%	64.1%	62.5%
White Age 16+	102,759	69,994	1,942	2.7%	70.0%	68.1%
Black Age 16+	13,789	10,291	274	2.6%	76.6%	74.6%
American Indian Age 16+	580	392	12	3.0%	69.7%	67.6%
Asian Age 16+	15,005	10,713	215	2.0%	72.8%	71.4%
Pacific Islander Age 16+	125	90	0	0.0%	72.0%	72.0%
Other Race Age 16+	7,078	5,226	90	1.7%	75.1%	73.8%
Multiple Races Age 16+	14,114	9,589	270	2.7%	69.9%	67.9%
Economic Dependency Rat	io					
Total						81.3
Child (<16)						37.5
Working-Age (16-64)						21.1
Senior (65+)						22.7

ndustry	Employed	Percent	US Percent	Location Quotient
otal	106,296	100.0%	100.0%	-
Agriculture/Forestry/Fishing	831	0.8%	1.1%	0.72
Mining/Quarrying/Oil & Gas	64	0.1%	0.3%	0.18
Construction	9,352	8.8%	7.0%	1.26
Manufacturing	4,042	3.8%	9.6%	0.40
Wholesale Trade	1,338	1.3%	1.9%	0.65
Retail Trade	9,144	8.6%	10.4%	0.83
Transportation/Warehousing	4,618	4.3%	5.0%	0.87
Utilities	878	0.8%	0.9%	0.92
Information	2,215	2.1%	1.8%	1.14
Finance/Insurance	3,705	3.5%	4.9%	0.72
Real Estate/Rental/Leasing	1,947	1.8%	1.7%	1.10
Professional/Scientific/Tech	18,224	17.1%	8.4%	2.05
Management of Companies	160	0.2%	0.2%	0.97
Admin/Support/Waste Management	3,951	3.7%	4.5%	0.82
Educational Services	10,098	9.5%	9.4%	1.01
Health Care/Social Assistance	11,109	10.5%	14.5%	0.72
Arts/Entertainment/Recreation	1,881	1.8%	2.2%	0.80
Accommodation/Food Services	5,689	5.4%	6.6%	0.81
Other Services (Excluding Public)	5,752	5.4%	4.7%	1.15
Public Administration	11,299	10.6%	5.0%	2.11

Data Note: Location Quotients compare the industry/occupation share of a local area's employment relative to that same share nationally. A value lower/greater than 1 indicates that the local area is less/more specialized in that industry or occupation category than the US as a whole.

Explore the Esri Labor Force Learn Lesson for more information on how to use and interpret the estimates in this report.

Source: Esri forecasts for 2025 and 2030.

©2025 Esri Page 5 of 6



21 Main St, Warrenton, Virginia, 20186 2 21 Main St, Warrenton, Virginia, 20186

Ring: 15 mile radius Longitude: -77.79488

Occupation	Employed	Percent	US Percent	Location Quotient
Total	106,296	100.0%	100.0%	
White Collar	75,855	71.4%	62.5%	1.14
Management	18,339	17.3%	11.8%	1.46
Business/Financial	9,950	9.4%	6.4%	1.45
Computer/Mathematical	8,484	8.0%	4.0%	2.00
Architecture/Engineering	2,571	2.4%	2.3%	1.03
Life/Physical/Social Sciences	773	0.7%	1.3%	0.5
Community/Social Service	1,502	1.4%	1.8%	0.7
Legal	1,380	1.3%	1.2%	1.1
Education/Training/Library	7,187	6.8%	6.3%	1.0
Arts/Design/Entertainment	2,023	1.9%	2.1%	0.8
Healthcare Practitioner	5,928	5.6%	6.7%	0.8
Sales and Sales Related	8,116	7.6%	8.4%	0.9
Office/Administrative Support	9,602	9.0%	10.1%	0.9
Blue Collar	14,841	14.0%	21.0%	0.6
Farming/Fishing/Forestry	482	0.5%	0.5%	0.9
Construction/Extraction	4,302	4.0%	4.9%	0.8
Installation/Maintenance/Repair	2,768	2.6%	2.9%	0.8
Production	1,843	1.7%	5.0%	0.3
Transportation/Material Moving	5,446	5.1%	7.7%	0.6
Services	15,599	14.7%	16.5%	0.8
Healthcare Support	2,424	2.3%	3.5%	0.6
Protective Service	3,844	3.6%	2.1%	1.7
Food Preparation/Serving	4,367	4.1%	5.1%	0.8
Building Maintenance	2,432	2.3%	3.4%	0.6
Personal Care/Service	2,532	2.4%	2.4%	0.9

Data Note: Location Quotients compare the industry/occupation share of a local area's employment relative to that same share nationally. A value lower/greater than 1 indicates that the local area is less/more specialized in that industry or occupation category than the US as a whole.

Explore the Esri Labor Force Learn Lesson for more information on how to use and interpret the estimates in this report.

Source: Esri forecasts for 2025 and 2030.

©2025 Esri Page 6 of 6

Prepared by Esri

Latitude: 38.71383